# & 388 1 riAF B4 17 fF47 4 sinsx & cos sX F

7 - éﬁ'm@wf%/v\l”%aé 2= & Sodcosin sx & cos sx F B o 3%

(Fourier Integral ) 3% - iz — 2R fE2 &4 5 5 ¢

[ f(x)cossxdx

T f (x)sin sx dx (2)

EA NATE A B e iR AR E PR | R A ke A g
’ '%Uiiif"fﬁ'*‘ 23T LR o e frE Bhe h - BEIS i’ﬁ?é’«néﬁ‘-é T A AR
M !Jﬁiﬁ*%%%*%’ﬁé°wW€ CER LT ERLA B

A g m"aiﬂﬁ“ BAend §2@2 2R ALEA - vER BN F WL R

v
a3 & -

FR@QEFIE S RQ) BAQ)E AT S

—0

[ f(x )cossxdx+|j X)sin sx dx

FRGRE G AL ApG  FlEs BEE LT uER g & ST

.[ f (x)(cos sx +isin sx)dx

d £ 238 (Euler Formula) #:

e = Ccossx +isin sx

v

ATUNA) TR AL




Tfood“dx (6)

d 2w Rt deBl- T AT G 2 ok Tih ) hiZ R BMOV 4 L z=X+iy 0 &
P xfE z2R¥ (Real Partofz)» yf % z2 m¥% (Imaginary Partofz) - #1% -k T
fhi P Hgh ¥R T B - BEE2 BEINISHL0 0

z=x+iy=x+i(0)=x (7

Im z

™~

Z =X - f:" =X

Bl- FlAg#cT g KT ghl o - BB RiN550 0 sz=X

Fles(6)v el &




By s>0pF Bt LT g2 AfA

RO)EEHTATET B ITF Heph b 2 RS o doBlZ T 0 T RF Hhh ) 2 R
BB S HPE RS AR XL s A T

| =T f(2)e™ dz=§ f(z)e™ dz— [ f(z)e™ dz

C Ca
() AW MC B Coenft A% 5395 B 0 T R> o0 o

Imz

Bl FHdh2ZMFLrech 0

f(z)e™dz? 2 lim f(z)dz
e

R—w R—o —0 R2

Cr

lim| [ f(z)e™ dz smcﬂf(z)eisz dz < lim|f (z e |;zR|=;{imieis(Re‘”)(ﬂR)zm%:oam

o0

j f(z)e™ dz :§ f(z)e™ dz

—oo C




—:—d—. o f‘}ﬁf&\i\:ff(Z)eisz dZ—ifﬁt!Av\';’i\:'; %@i ")-;—rﬁé_«"l_!’ rﬁﬁ;—}ﬁ’%,z}ﬂ ’ ;ﬁ—‘ﬁff&’ﬁ ﬁ‘b:!
C

ST R B)HTA KA AT T R o F e oA f T (2)e™ dz 2 HE A
C

#i2C % 3 niptesz,(j=12,-n) > BI¥ 51 * & @22 (Residue Theorem) » £ #-3t

(11)e R %

J f(z)e™ dz = Zn:27z1' Res f(z)e™
= z=7;

—00




Wy S<OpF > BT LTG5 2 Mff s
-W%‘*@‘Vﬁ”*@,*iﬁ*ﬁﬁﬁ TR

ST o PR T AR Boph b 2 SRR A if?&ﬁ\ﬁﬁﬁé

I :T f(z)e"™ dz :§ f(z)e™ dz - j f(z)e™ dz

c Cr

e X (13)¢ fE AW RCECohfh A S w195 k% 0 " R -

Fl= 3 Hcbhl 2 Sfg A el

FE A [f(2)edz e 2 f(2)e = g o(a(2))-

R—x R—x R—x

R

T f(z)e™ dz =§ f(z)e™ dz

—o0 C

’\i\ﬁﬂﬁ?é\ Y- Bl =
, \‘sﬂﬁﬁ/»\ y R

O(p(z))22 » Al

7K

Iim_[ z)e™ dz| < lim ﬂ e[ dz < lim|f(z)je™ |7zR|_I|m—(1)(7zR)_I|mF_O

(13)

(14)




VLR o &N (B) T R RE 2 fR T T s A o e drfh A S {D f(z)e™ dz 2 # B # » &
C

ZCH FnpigEz(j=12n) BIF I % FEEE > £ #N(15)e B 5

T f(z)e™ dz = —Zn: 27 Res f(z)e™
1 =2

—o0 i

I A f B R FIE TR A D e S EdE e o
d 3 (12)R 5 (16)307 &3 0 AL 30 i R TIB £ & e o £ 0 (12) & 54 (16)

“pE 2 S
[f(2)e® dz=ar+ip

i FEES(NLRE

0

'[ f(z)e™ dz = j f(x)cossxdx +i I f (x)sin sxdx

—00 —0

vt (17) 2 54 (18) 4

[ f(x)cossxdx=e ~ [ f(x)sinsxdx =B

—00

LR AL R T g o




